
SOLUTION 14 : Integrate 
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Substitute into the original problem, replacing all forms of [image: image4.png]


, getting
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(Use polynomial division.)
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Use the method of partial fractions. Factor and decompose into partial fractions, getting
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(After getting a common denominator, adding fractions, and equating numerators, it follows that
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 ;

let [image: image12.png]+ A(0) + B(=32) +(C(~=2) + D)(0) = -96 — B =3
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SOLUTION 13 : Integrate [image: image26.png]


 . Use the power substitution
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so that
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and
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 .

Substitute into the original problem, replacing all forms of [image: image31.png]


, getting
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Use the method of partial fractions. Factor and decompose into partial fractions, getting (There are repeated linear factors!)
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(After getting a common denominator, adding fractions, and equating numerators, it follows that
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let [image: image38.png]=25 AQ)+ BO) +C(0) + DO) = -8 — B=~7
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let [image: image39.png]u=-2: A(0)+B(0)+C(0)+D(16):—BﬁD:—%



 ;

let [image: image40.png]=0: A(-8)+B(4)+C(8) +D(4) = -84-2+8C-2=0
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let [image: image42.png]u=1: A(-9)+ B(9) + C(3) + D(1) = —9A——+zc——:—z
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